Efficiency vs dr

0.8

x n
g C
» o
S 0.7 —
> -
2 r
o 0.6
S s
b= »
o 0.5
0.4F
0.3F
0.2F
0.1
O J.\.Gt L b } ‘i 1 “ ! N I:
= —s=— DQM_V0001_R000000001__Global__mkFitbasel RECO
o 4k -{ —— DQM_v0001_R000000001_Global__mkFitbase2_ RECO
0.95 HE SRSk ﬂ”ﬂﬂ"ﬂﬂﬂmﬂ}mﬂm}l

107° 1072 107 1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.05
n0.045
=
o
<]0.04
9.035
>
20.03
Q
:-'=0.025
3]
0.02
0.015
0.0
0.005
e

Ratio
N

0.95

—1

1072

=
S
w

1
AR(TP, jet)

0.2

5 T A
0.022—----§------%---“%?'H++§++-+++iﬁ+++§-+%;"§-----
| TI K AN Als
F R e e p A NP ARRRERARREA RN
"c—c' r . . ] ] ] ] :
o N
| RS [P E 4 C0 N S T
0956364550 60 70 80 90100



	Contents
	Page 1


